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N.B: 1) Question number 1 is compulsory.
2) Solve any three from remaining.

Ql

(a)
(b)
(¢)
(d)
(¢)
Q2 (a)

(b)

Q3 (a)
(b)
Q4 (a)
(b)

Q5 (a)
(b)
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Solve any Four 2Q

Explain coding for Analog sources.
Explain Baye’s detection of received signal

Comment on Lempel algorithm LM 77
Explain Average Mutual Information and Entropy.

Explain effects of Imperfect carrier synchronization.

Explain the optimum detection of M-ary using Matched['ﬁlterg of 10

received message signal.
Describe basic concepts of ISI? Design bandlimited 51gnal for controlled

i y,

10

Design and implement M-ary Non-coherent ré‘c\e_i.verﬁ‘_.fé)r equal energy 10

-

signal in random phase channels. o N
Explain optimum detection in Raylelgh Chanmls

-._‘. t

10

A DMS has an alphabets of five lettm:s X1 = 1 2....5 with probabilities 10
0.4,0.2,0.2,0.1,0.1. Find average. length.and efficiency of the code.
Draw and explan the optlmum wav&ionmrecelver in colored Gaussian 10

noise usmg K-L Expansmn gppi'm(:h

uncorrelated an%ngde'
Explain tune—vam&g{ natu‘re of the channel in Doppler-—shlft domain. 10

20
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